Soustraction Avec Des Zéros (G)

Calculez la différence.

100 100 10 000
-6 -91 -5731
100 100 1000
-22 -46 -417
10 000 100 100
-7 143 - 80 -1
1000 1000 10000
- 498 - 260 -9800
10 000 100 10 000
-9613 -40 -4111
10000 1000 100
-9420 -72 - 56
100 10 000 10 000

- 32 -6 825 -2 261

1000
- 578

1000
- 979

1000
- 888

10 000
-5433

1000
- 519

10 000
-4 579

1000
- 944
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Soustraction Avec Des Zéros (G) Réponses

100

94

100
-22

78

10 000
-7 143

2 857

1000
- 498

502

10 000
-9613

387

10 000
-9420

580

100
-32

68

Calculez la différence.

1000
- 578

422

1000
-979

21

1000
- 888

112

10 000
-5433

4 567

1000
-519

481

10 000
-4 579

100 10 000
-91 -5731
9 4 269
100 1000
-46 -417
54 583
100 100
- 80 -1
20 99
1000 10 000
- 260 -9800
740 200
100 10 000
-40 -4111
60 5889
1000 100
-72 - 56
928 44
10 000 10 000
-6 825 -2 261
3175 7739

5421

1000
- 944

56
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